BID TABULATION

S REMINGTON ROAD WATERLINE IMPROVEMENTS

City of Bexley, Ohio

Bids Opened: August 1st, 2025, 1:00 p.m.

Ref. No.	Item No.	Description		Quantity	Engine	eer's Estim	nate	1595 F Columbus,	ving Company rank Road Ohio 43223 176-5273	8077 M Plain City	nbert, Inc. Nemorial Drive y, Ohio 43064 873-4677	4500 Sno Mansfield	ting Co. of Ohio odgrass Road I, Ohio 44903 683-4200	2550 I Columbus	Construction Harrison Rd s, Ohio 43204 274-2700	3042 A Columbus	truction Company AcKinley Ave s, Ohio 43204 488-7958
					Unit Price	lte	m Total	Unit Price	ltem Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	ltem Total	Unit Price	Item Total
		S REMINGTON ROAD WATERLINE BASE BID															
1	201	Clearing and Grubbing Removal of Existing Water Valve Boxes Including 304 Backfill and	LS	1 \$	7,500.00	\$	7,500.00	\$2,600.00	\$2,600.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00		No Bid
2	202	Pavement Replacement 301 (10")	EA	19 \$	800.00	\$	15,200.00	\$900.00	\$1 <i>7,</i> 100.00	\$1,547.37	\$29,400.03	\$450.00	\$8,550.00	\$1,000.00	\$19,000.00		No Bid
3	202	Pipe Removed, 12" Storm	LF	10 \$	10.00	\$	100.00	\$75.00	\$750.00	\$135.90	\$1,359.00	\$50.00	\$500.00	\$60.00	\$600.00		No Bid
4	202	Curb Inlet Manhole Removed	EA	1 \$	1,500.00	\$	1,500.00	\$1,000.00	\$1,000.00	\$1,153.59	\$1,153.59	\$600.00	\$600.00	\$600.00	\$600.00		No Bid
5	203	Removal of Unsuitable Base and Replacement w/ 305 Concrete Base, As Directed (Contingency for Trench Repair)	CY	100 \$	400.00	Ś	40,000.00	\$250.00	\$25,000.00	\$410.23	\$41,023.00	\$320.00	\$32,000.00	\$425.00	\$42,500.00		No Bid
		Removal of Unsuitable Base and Replacement w/ 304 Limestone Base,				_											
6	203	As Directed (Contingency for Trench Repair)	CY	50 \$	100.00	\$	5,000.00	\$100.00	\$5,000.00	\$228.36	\$11,418.00	\$100.00	\$5,000.00	\$150.00	\$7,500.00		No Bid
7	207	Temporary Erosion and Sediment Control 7" 305 Concrete Base on Top of 304 Trench Backfill per Standard DWG	LS	1 51	10,000.00	\$	10,000.00	\$3,000.00	\$3,000.00	\$2,250.53	\$2,250.53	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00		No Bid
8	253	BEX-UT-04 Type IIA Asphalt Concrete Pavement Replacement for Water Line & Storm Sewer	CY	410 \$	400.00	\$	164,000.00	\$290.00	\$118,900.00	\$436.88	\$179,120.80	\$375.00	\$153,750.00	\$350.00	\$143,500.00		No Bid
9	253	Trench - 3" 441 Type 1 Asphalt per Standard DWG BEX-UT-04 Type IIA	CY	175 \$	430.00	\$	75,250.00	\$375.00	\$65,625.00	\$440.04	\$77,007.00	\$400.00	\$70,000.00	\$573.16	\$100,303.00		No Bid
10	407	Tack Coat, NTSS.1M @ 0.10 gal/SY	GAL	210 \$	5.00	\$	1,050.00	\$4.50	\$945.00	\$76.50	\$16,065.00	\$10.00	\$2,100.00	\$4.00	\$840.00		No Bid
11	604	Type C Manhole (AA-S102), Per Plan	EA	1 \$	5,000.00	\$	5,000.00	\$9,000.00	\$9,000.00	\$7,448.75	\$7,448.75	\$4,500.00	\$4,500.00	\$5,400.00	\$5,400.00		No Bid
12	604	Curb Inlet Manhole Reconstruct to Grade	EA	1 \$	2,000.00	\$	2,000.00	\$1,300.00	\$1,300.00	\$5,011.04	\$5,011.04	\$2,000.00	\$2,000.00	\$1,200.00	\$1,200.00		No Bid
13	609	Remove and Replace Concrete Curb & Gutter for water main installation, Spot Work, T=6"	LF	100 \$	75.00	\$	7,500.00	\$75.00	\$ <i>7,</i> 500.00	\$99.00	\$9,900.00	\$115.00	\$11,500.00	\$75.00	\$7,500.00		No Bid
14	614	Maintaining Traffic	LS	1 \$ 3	30,000.00	\$	30,000.00	\$25,000.00	\$25,000.00	\$23,511.65	\$23,511.65	\$30,000.00	\$30,000.00	\$95,000.00	\$95,000.00		No Bid
15	616	Water for Dust Control & Street Cleaning	MGAL	30 \$	25.00	\$	750.00	\$50.00	\$1,500.00	\$109.27	\$3,278.10	\$50.00	\$1,500.00	\$20.00	\$600.00		No Bid
16	659	Seeding & Mulching w/ 4" Topsoil	SY	1,000 \$	30.00	\$	30,000.00	\$27.00	\$27,000.00	\$7.00	\$7,000.00	\$20.00	\$20,000.00	\$20.00	\$20,000.00		No Bid
17	659	Water (for Seeded Areas) as Directed	MGAL	40 \$	60.00	\$	2,400.00	\$50.00	\$2,000.00	\$200.00	\$8,000.00	\$50.00	\$2,000.00	\$100.00	\$4,000.00		No Bid
18	801	6" D.I. Water Main and Fittings (Class 53) Including 304 Limestone Backfill (For Fire Hydrants)	LF	81 \$	200.00	Ś	16,200.00	\$220.00	\$1 <i>7</i> ,820.00	\$265.30	\$21,489.30	\$200.00	\$16,200.00	\$210.00	\$17,010.00		No Bid
19	801	6" D.I. Water Main and Fittings (Class 53) Including 304 Limestone Backfill	LF	10 \$	200.00	Ś	2,000.00	\$400.00	\$4,000.00	\$698.77	\$6,987.70	\$600.00	\$6,000.00	\$400.00	\$4,000.00		No Bid
20	901	8" D.I. Water Main and Fittings (Class 53) Including 304 Limestone Backfill	LF	3,550 \$	180.00		630,000,00	\$145.00		\$189.51		\$197.00	\$699,350.00	¢222.00	¢788 100 00		No Bid
20		12" D.I. Water Main and Fittings (Class 53) including 304 Limestone	LF	5,550 \$		٦	639,000.00	\$165.00	\$585,750.00		\$672,760.50	1		\$222.00	\$788,100.00		
21	801	Backfill 16" D.I. Water Main and Fittings (Class 53) including 304 Limestone	LF	100 \$	250.00	\$	25,000.00	\$400.00	\$40,000.00	\$355.33	\$35,533.00	\$345.00	\$34,500.00	\$358.00	\$35,800.00		No Bid
22	801	Backfill	LF	10 \$	700.00	\$	7,000.00	\$900.00	\$9,000.00	\$1,575.14	\$15,751.40	\$1,000.00	\$10,000.00	\$1,500.00	\$15,000.00		No Bid
23	801	Chlorination and Testing per AWWA C651 by Contractor	LS	1 \$ 1	15,000.00	\$	15,000.00	\$12,500.00	\$12,500.00	\$3,500.00	\$3,500.00	\$20,000.00	\$20,000.00	\$1 <i>5</i> ,000.00	\$15,000.00		No Bid
24	801	Fittings, Increase/Decrease (Contingency)	LB	600 \$	5.00	\$	3,000.00	\$4.50	\$2,700.00	\$7.17	\$4,302.00	\$3.00	\$1,800.00	\$3.75	\$2,250.00		No Bid
25	802	6" Valve and Appurtenances Including H.D. Valve Box	EA	1 \$	2,500.00	\$	2,500.00	\$2,100.00	\$2,100.00	\$1,942.01	\$1,942.01	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00		No Bid
26	802	8" Valve and Appurtenances Including H.D. Valve Box	EA	15 \$	2,850.00	\$	42,750.00	\$2,750.00	\$41,250.00	\$2,641.37	\$39,620.55	\$3,000.00	\$45,000.00	\$2,800.00	\$42,000.00		No Bid
27	802	12" Valve and Appurtenances Including H.D. Valve Box	EA	2 \$	3,500.00	\$	7,000.00	\$4,660.00	\$9,320.00	\$4,876.09	\$9,752.18	\$6,000.00	\$12,000.00	\$4,900.00	\$9,800.00		No Bid
28	802	8"x6" Anchor Tee & Valve Including H.D. Valve Box (For Fire Hydrants) 3/4" Water Service Tap Transferred, Long, Type K Copper, Including New	EA	10 \$	3,000.00	\$	30,000.00	\$2,600.00	\$26,000.00	\$2,787.18	\$27,871.80	\$3,000.00	\$30,000.00	\$2,800.00	\$28,000.00		No Bid
29	805	Curb Stop Box, Per Plan	EA	64 \$	3,000.00	\$	192,000.00	\$4,700.00	\$300,800.00	\$3,235.11	\$207,047.04	\$4,000.00	\$256,000.00	\$3,400.00	\$217,600.00		No Bid
30	805	3/4" Water Service Tap Transferred, Short, Type K Copper, Including New Curb Stop Box, Per Plan	EA	49 \$	2,500.00	\$	122,500.00	\$2,500.00	\$122,500.00	\$2,546.57	\$124,781.93	\$3,500.00	\$171,500.00	\$3,000.00	\$147,000.00		No Bid
31		Upsize Water Service from 3/4" to 1" (Contingency)	EA	20 \$	500.00	\$	10,000.00	\$800.00	\$16,000.00	\$312.69	\$6,253.80	\$575.00	\$11,500.00	\$1,000.00	\$20,000.00		No Bid

BID TABULATION

S REMINGTON ROAD WATERLINE IMPROVEMENTS

Description

Building including connection to Meter by licensed plumber, by

Install Additional Water Service Pipe, 3/4" Type K, from Curb Stop to

yard area behind walk by directional boring, as directed (Contingency)

directional boring, not to exceed 50 lineal feet per each

City of Bexley, Ohio

ltem

No.

805

Ref.

No.

32

33

Bids Opened: August 1st, 2025, 1:00 p.m.

			+													
34	808	Cut & Cap Existing 6" Water Main	EA	6	\$ 1,250.00	\$	7,500.00	\$1,600.00	\$9,600.00	\$1,024.09	\$6,144.54	\$2,500.00	\$15,000.00	\$1,400.00	\$8,400.00	No Bid
35	808	Cut & Cap Existing 8" Water Main	EA	2	\$ 1,250.00	\$	2,500.00	\$1,650.00	\$3,300.00	\$1,088.92	\$2,177.84	\$3,500.00	\$7,000.00	\$1,700.00	\$3,400.00	No Bid
36	808	Cut & Cap Existing 16" Water Main	EA	2	\$ 2,000.00	\$	4,000.00	\$2,100.00	\$4,200.00	\$2,777.55	\$5,555.10	\$6,000.00	\$12,000.00	\$2,500.00	\$5,000.00	No Bid
37	809	Fire Hydrant, per Plan (minimum 5' depth of bury)	EA	10	\$ 6,000.00	\$	60,000.00	\$6,900.00	\$69,000.00	\$5,293.39	\$52,933.90	\$5,500.00	\$55,000.00	\$6,300.00	\$63,000.00	No Bid
38	809	Fire Hydrant, Removed and Delivered to City Service Department	EA	9	\$ 1,500.00	\$	13,500.00	\$1,250.00	\$11,250.00	\$1,611.39	\$14,502.51	\$1,000.00	\$9,000.00	\$1,000.00	\$9,000.00	No Bid
39	810	6" or 12" Fire Hydrant Extensions (Contingency)	EA	10	\$ 1,000.00	\$	10,000.00	\$800.00	\$8,000.00	\$1,269.20	\$12,692.00	\$500.00	\$5,000.00	\$700.00	\$7,000.00	No Bid
40	811	Increase or Decrease in Excavation and 304 Backfill	CY	100	\$ 70.00	\$	7,000.00	\$100.00	\$10,000.00	\$61.65	\$6,165.00	\$60.00	\$6,000.00	\$65.00	\$6,500.00	No Bid
41	901	18" Polypropylene (ASTM 3212) Pipe with Watertight Joints with Item 912 Compacted Granular Material and Type I Bedding	LF	17	\$ 170.00	\$	2,890.00	\$200.00	\$3,400.00	\$274.68	\$4,669.56	\$250.00	\$4,250.00	\$200.00	\$3,400.00	No Bid
Miscella	Aiscellaneous & Contingency															
42	SPEC	Pre-Locate Existing Utilities (Contingency)	EA	5	\$ 900.00	\$	4,500.00	\$1,250.00	\$6,250.00	\$816.26	\$4,081.30	\$750.00	\$3,750.00	\$700.00	\$3,500.00	No Bid
43	802	Remove & Replace Existing 6" Valve and Appurtenances Including H.D. Valve Box (Contingency, As Directed)	EA	2	\$ 2,500.00	\$	5,000.00	\$6,000.00	\$12,000.00	\$6,522.97	\$13,045.94	\$5,300.00	\$10,600.00	\$3,500.00	\$7,000.00	No Bid
44	SPEC	6" Linestop (Contingency, As Directed)	EA	1	\$ 10,000.00	\$	10,000.00	\$10,500.00	\$10,500.00	\$20,623.71	\$20,623.71	\$8,700.00	\$8,700.00	\$10,000.00	\$10,000.00	No Bid
45	1001	Remove & Replace Street Light Pull Box, Complete (Charles)	EA	1	\$ 600.00	\$	600.00	\$4,700.00	\$4,700.00	\$5,436.00	\$5,436.00	\$5,600.00	\$5,600.00	\$5,436.00	\$5,436.00 ?	No Bid
46	614	Temporary Asphalt for Maintenance of Traffic, as Directed by Engineer	CY	20	\$ 310.00	\$	6,200.00	\$300.00	\$6,000.00	\$2.00	\$40.00	\$375.00	\$7,500.00	\$250.00	\$5,000.00	No Bid
47	Spec.	Hydro Excavate for Water Service Reconnections, as Directed by Engineer	EA	20	\$ 500.00	5	10,000.00	\$275.00	\$5,500.00	\$693.35	\$13,867.00	\$500.00	\$10,000.00	\$350.00	\$7,000.00	No Bid
48	605	Remove and Replace 4" UD Pipe (Contingency)	LF	100	\$ 20.00	\$	2,000.00	\$30.00	\$3,000.00	\$109.46	\$10,946.00	\$25.00	\$2,500.00	\$15.00	\$1,500.00	No Bid
49	SPEC	Remove & Replace Concrete Base and Banding for Brick Crosswalk (water main installation) per plan, Main Street	SY	3	\$ 500.00	\$	1,500.00	\$2,400.00	\$7,200.00	\$1,918.01	\$5,754.03	\$2,200.00	\$6,600.00	\$1,000.00	\$3,000.00	No Bid
50	SPEC	Remove & Replace Brick Pavers on bituminous setting bed per plan for Crosswalk (water main installation), Main Street	SY	3	\$ 300.00	\$	900.00	\$450.00	\$1,350.00	\$750.00	\$2,250.00	\$450.00	\$1,350.00	\$700.00	\$2,100.00	No Bid
51	Spec.	Force Account	EA	1	\$90,000.00	\$	90,000.00	\$90,000.00	\$90,000.00	\$90,000.00	\$90,000.00	\$90,000	\$90,000.00	\$90,000.00	\$90,000.00	No Bid
		S REMINGTON ROAD WATERLINE BID TOTALS		!	'		\$1,772,290.00		\$1,815,210.00		\$1,890,952.70		\$1,955,700.00		\$2,074,339.00	No Bid
														Contractor's Total	\$2,074,903.00 ?	
		ALTERNATE 1 BID- STREET LIGHTING BID														
		Remove & Replace Street Light Poles w/Luminare, on Existing				+							1		1	
1	1001	Foundation, Complete Including New Wiring, Connector Kits, and Anchor Bolts	EA	16	\$7,000.00		\$112,000.00	No Bid	No Bid	\$8,063.00	\$129,008.00	\$7,500.00	\$120,000.00	\$8,200.00	\$131,200.00	No Bid
	1001	S REMINGTON ROAD STREET LIGHTING BID TOTALS			1		\$112,000.00		No Bid	\$5,500.00	\$129,008.00	7. /500.00	\$120,000.00	+5,200.00	\$131,200.00	No Bid
					l	'			I I		, , , , , , , , , , , , , , , , , , , ,		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Contractor's Total	\$117,600.00 ?	
															÷ : . /000.00 .	

Strawser Paving Company

1595 Frank Road

Columbus, Ohio 43223

(614) 276-5273

Item Total

\$27,000.00

\$20,000.00

Unit Price

\$9,000.00

\$100.00

Engineer's Estimate

Item Total

12,000.00

11,000.00

Unit Price

\$ 4,000.00

55.00

Unit Quantity

3

200

EA

LF

Danbert, Inc.

8077 Memorial Drive

Plain City, Ohio 43064

(614) 873-4677

Item Total

\$11,790.57

\$5,238.00

Unit Price

\$3,930.19

\$26.19

Elite Excavating Co. of Ohio

4500 Snodgrass Road

Mansfield, Ohio 44903

(419) 683-4200

Item Total

\$10,500.00

\$9,000.00

Unit Price

\$3,500.00

\$45.00

Dbl Z Construction

2550 Harrison Rd

Columbus, Ohio 43204

(614) 274-2700

Item Total

\$18,000.00

\$8,000.00

Unit Price

\$6,000.00

\$40.00

Decker Construction Company

3042 McKinley Ave

Columbus, Ohio 43204

(614) 488-7958

No Bid

No Bid

Item Total

Unit Price

BID TABULATION

S REMINGTON ROAD WATERLINE IMPROVEMENTS

City of Bexley, Ohio

Bids Opened: August 1st, 2025, 1:00 p.m.

Bids	Opene	d: August 1st, 2025, 1:00 p.m.														
Ref. No.	Item No.	Description 1		Quantity	_	eer's Estimate	1595 Fi Columbus,	ving Company rank Road Ohio 43223 276-5273	8077 A Plain Cit	nbert, Inc. Aemorial Drive ty, Ohio 43064	4500 S Mansfie	rating Co. of Ohio nodgrass Road Id, Ohio 44903 ') 683-4200	2550 F Columbus,	Construction Harrison Rd , Ohio 43204 274-2700	3042 M Columbus	ruction Company cKinley Ave , Ohio 43204 488-7958
					Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
				ı												
		S REMINGTON ROAD STREET RESURFACING BID Removal of Unsuitable Base by milling and Replacement w/ 441 Type 2														
1	203	Asphalt, As Directed (Contingency)	CY	100	\$ 440.00	\$44,000.00	\$400.00	\$40,000.00		No Bid		No Bid		No Bid	\$736.55	\$73,655.00
2	204	Proof Rolling	HR	2	\$ 200.00	\$400.00	\$400.00	\$800.00		No Bid		No Bid		No Bid	\$150.00	\$300.00
3		Pavement Planing, Per Plan	SY	8440	\$ 4.50	\$37,980.00	\$3.70	\$31,228.00		No Bid		No Bid		No Bid	\$4.69	\$39,583.60
4	255	Remove and Replace Existing Alley Approach and Sidewalk, T=8", Class MS Concrete, per BEX-ST-01 Std Dwg, As Directed	SY	40	\$ 150.00	\$6,000.00	\$200.85	\$8,034.00		No Bid		No Bid		No Bid	\$239.75	\$9,590.00
5		Remove and Replace Existing Driveway Approach and Sidewalk, T=6", Class MS Concrete, per BEX-ST-03 Std Dwg, As Directed	SY	40	\$ 150.00	\$6,000.00	\$209.98	\$8,399.20		No Bid		No Bid		No Bid	\$227.30	\$9,092.00
6	407	Tack Coat, NTSS.1M @ 0.10 gal/SY	GAL	844	\$ 5.00	\$4,220.00	\$3.00	\$2,532.00		No Bid		No Bid		No Bid	\$5.10	\$4,304.40
7	SS 1510	Sami Seal with Polymerized Binder	SY	8,440	\$ 4.50	\$37,980.00	\$4.55	\$38,402.00		No Bid		No Bid		No Bid	\$5.00	\$42,200.00
8	441	Asphalt Concrete Type 1 Surface, 1.5", PG 64-22	CY	370	\$ 260.00	\$96,200.00	\$298.00	\$110,260.00		No Bid		No Bid		No Bid	\$288.30	\$106,671.00
9		Curb Inlet Reconstructed to Grade (AA-S120), As Directed	EA	4	\$ 1,500.00	\$6,000.00	\$1,042.27	\$4,169.08		No Bid		No Bid		No Bid	\$3,312.55	\$13,250.20
10		Remove and Replace 4" or 6" thick Concrete Curb Ramp and Sidewalk, Class S, Per BEX-ST-13 Std Drawing, Spot Work As Directed	SF	2500	\$ 14.00	\$35,000.00	\$14.50	\$36,250.00		No Bid		No Bid		No Bid	\$18.51	\$46,275.00
11	608	Detectable Warning System, Cast Iron Neenah Foundry or Approved Equal per BEX-ST-12.1 Std Drawing	SF	200	\$ 80.00	\$16,000.00	\$81.85	\$16,370.00		No Bid		No Bid		No Bid	\$82.28	\$16,456.00
12	608	Detectable Warning System Pinehall Brick or Approved Equal	SF	20	\$ 50.00	\$1,000.00	\$47.50	\$950.00		No Bid		No Bid		No Bid	\$44.10	\$882.00
13	609	Remove and Replace Concrete Curb & Gutter, Spot Work, T=6"	LF	300	\$ 55.00	\$16,500.00	\$72.00	\$21,600.00		No Bid		No Bid		No Bid	\$63.26	\$18,978.00
14	609	Remove and Replace Concrete Curb & Gutter, Spot Work, T=8"	LF	50	\$ 60.00	\$3,000.00	\$73.50	\$3,675.00		No Bid		No Bid		No Bid	\$76.63	\$3,831.50
15	630	Street Sign w/ Support, Complete	EA	8	\$ 300.00	\$2,400.00	\$610.00	\$4,880.00		No Bid		No Bid		No Bid	\$621.50	\$4,972.00
16	630	School Crosswalk Sign Including Ground Mounted Support and "Ahead" Placard W16-9P, Complete	EA	3	\$ 650.00	\$1,950.00	\$725.00	\$2,175.00		No Bid		No Bid		No Bid	\$533.50	\$1,600.50
17	630	School Crosswalk Sign Including Ground Mounted Support and "Arrow" Placard W16-7PL/R , Complete	EA	4	\$ 650.00	\$2,600.00	\$725.00	\$2,900.00		No Bid		No Bid		No Bid	\$533.50	\$2,134.00
- 17	- 030	End School Speed Limit Sign Including Ground Mounted Support,	L/\	'	φ 030.00	Ψ2,000.00	ψ/ 23.00	Ψ2,700.00		No Bid		THE BIG		The blu	\$300.30	\$2,104.00
18		Complete	EA	4	\$ 600.00	\$2,400.00	\$635.00	\$2,540.00		No Bid		No Bid		No Bid	\$484.00	\$1,936.00
19	630	Do Not Enter Sign Including Ground Mounted Support, Complete 20 MPH Speed Limit Sign Including Ground Mounted Support S5-H1,	EA	1	\$ 600.00	\$600.00	\$665.00	\$665.00		No Bid		No Bid		No Bid	\$484.00	\$484.00
20	630	Complete	EA	4	\$ 650.00	\$2,600.00	\$635.00	\$2,540.00		No Bid		No Bid		No Bid	\$484.00	\$1,936.00
21	630	25 MPH Speed Limit Sign Including Ground Mounted Support, Complete	EA	2	\$ 650.00	\$1,300.00	\$635.00	\$1,270.00		No Bid		No Bid		No Bid	\$484.00	\$968.00
22		Stop Sign, 30", Including Ground Mounted Support and "All Way" Placard R1-3-18 per Bexley Std. Dwg. BEX-MIS-01 Std Dwg, Complete	EA	14	\$ 800.00	\$11,200.00	\$575.00	\$8,050.00		No Bid		No Bid		No Bid	\$533.50	\$7,469.00
23	630	Remove and Reinstall existing "No Turn" signs on new stop sign supports at Mound and Remington	EA	4	\$ 100.00	\$400.00	\$135.00	\$540.00		No Bid		No Bid		No Bid	\$462.00	\$1,848.00
24	644	Stop Bars, 24" White	LF	160	\$ 12.00	\$1,920.00	\$12.25	\$1,960.00		No Bid		No Bid		No Bid	\$12.86	\$2,057.60
25		Crosswalks, 8" White	LF	160	\$ 6.00	\$960.00	\$4.50	\$720.00		No Bid		No Bid		No Bid	\$4.72	\$755.20
26	644	Crosswalks and Yield Line, 12" White	LF	750	\$ 7.00	\$5,250.00	\$6.00	\$4,500.00		No Bid		No Bid		No Bid	\$6.30	\$4,725.00
27	644	Crosswalks, 24" White	LF	160	\$ 12.00	\$1,920.00	\$12.25	\$1,960.00		No Bid		No Bid		No Bid	\$12.86	\$2,057.60
28	644	Word "SCHOOL", 72" White	Ea	1	\$ 900.00	\$900.00	\$880.00	\$880.00		No Bid		No Bid		No Bid	\$924.00	\$924.00
29		Yield Markings, 36" Triangle, White	EA	10	\$ 150.00	\$1,500.00	\$65.00	\$650.00		No Bid		No Bid		No Bid	\$68.25	\$682.50
30	644	Double Yellow Center Line, 4"	LF	430	\$ 5.00	\$2,150.00	\$3.50	\$1,505.00		No Bid		No Bid		No Bid	\$3.67	\$1,578.10
31	SPEC	Remove and Reset Limestone Retaining Wall per BEX-MIS-03 Std Dwg	SF	300	\$ 110.00	\$33,000.00	\$72.00	\$21,600.00		No Bid		No Bid		No Bid	\$75.60	\$22,680.00
		S REMINGTON ROAD STREET RESURFACING BID TOTALS				\$383,330.00		\$382,004.28		No Bid		No Bid		No Bid		\$443,876.20

BID TABULATION S REMINGTON ROAD WATERLINE IMPROVEMENTS

City of Bexley, Ohio Bids Opened: August 1st, 2025, 1:00 p.m.

Contractor:	Strawser Paving Company	Danbert, Inc.	Elite Excavating Co. of Ohio	Dbl Z Construction	Decker Construction Company
All required documents submitted	Yes	No	Yes	Yes	Yes
Proposal Completed Correctly	Yes	Yes	Yes	Yes	Yes
All spaces filled in properly	No-Bid Alt No. 1	Yes	Yes	Yes	Yes
Bid Addendums Acknowledged	Yes	Yes	Yes	Yes	Yes
Total Price Checked	Yes	Yes	Yes	No	Yes
Non-collusion Affidavit Completed	Yes	Yes	Yes	Yes	Yes
Corporation Affidavit Completed (if applicable)	Yes	Yes	Yes	Yes	Yes
Affidavit of Personal Property Tax Liability Completed	Yes	Yes	Yes	Yes	Yes
Auditor of State- Unresolved Findings for Recovery Certified Search Completed	Yes	Did Not Perform Check	Did Not Perform Check	Did Not Perform Check	Did Not Perform Check
Bid Guaranty and Contract Bond Completed	Yes	Yes	Yes	Yes	Yes
Detailed Statement of Qualifications Included	Yes	Yes	Yes	Yes	Yes
Sub-Contractors List Included	Yes	Yes	Yes	Yes	Yes
EDGE Goal of 5% Compliance	Yes	Yes	No-Did not request waiver	Yes	Yes
Campaign Contributions Affidavit Completed	Yes	Yes	Yes	Yes	Yes
EEO Certificate of Compliance, State of Ohio	Yes	Yes	Yes	No	Yes
Bond Amount	Amount of Bid	Amount of Bid	Amount of Bid	Amount of Bid	Amount of Bid
	Fidelity and Deposit Company of		Travelers Casualty and Surety	Atlantic Specialty Insurance	
Bonding Agency	Maryland	Hartford Fire Insurance Company	Company of America	Company	Cincinnati Insurance Company
A.M. Best Rating	A	Α	A	A	A

			Engineer's Estimate:	Strawser	Strawser Paving Company		Danbert, Inc.		ating Co. of Ohio	Dbl Z	Construction	Decker Construction Company	
				% O/(U)		% O/(U)		% O/(U)		% O/(U)		% O/(U)	
S REMINGTON ROAD WATERLINE BAS	S REMINGTON ROAD WATERLINE BASE BID TOTAL =		\$1,772,290.00	2.4%	\$1,815,210.00	6.7%	\$1,890,952.70	10.3%	\$1,955,700.00	17.0%	\$2,074,339.00		No Bid
			7,7		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				, , , , , , , , , , , , , , , , , , , ,				
ALT BID 1- S REMINGTON ROAD STREET LIGHTIN	G BID	OTAL =	\$112,000.00		No Bid	15.2%	\$129,008.00	7.1%	\$120,000.00	17.1%	\$131,200.00		No Bid
S REMINGTON ROAD STREET RESURFACING BID TOTAL=		\$383,330.00	-0.35%	\$382,004.28		No Bid		No Bid		No Bid	15.8%	\$443,876.20	

David B. Koch, P.E.